l

ZE(1~7Xt AN

8X} A2

7
8%t 92|
7

937348 34
STA.39Km196.500

92137 £3 | [ 92237 A&

STA. 38km330.000

2 =
gaESL!
r'%)‘\1?5?3\;\‘;“\““-‘-’E’“ STA. 39Kn196.500
STk -
O

HHl 318m

ZHl 425m

92287 53 | | 92337 A&
STA.39kn800. 000

STA. 39km800.000

[

GL. —25.0m

-_—

02137 58

g 022
e NT a0 e STA. 39Km196.500
=

92237 38
STA.39km800.000

92337 AIE
STA.39km800.000

(

STA.38k1330,000 ! — U=
//\\ i i ke
ﬁ’\ o e EES — oror INEDNEN
o — $55 NN NN S s
[SESES L ‘ H ‘ | e~~~ M,M#iiﬁﬁﬁiiMw
:\ R vV
s - \tj| —= — VvV ——v—“r—v—‘\/—\ﬁ‘\f—v‘ﬁ/—‘\.r—v—‘v—\ﬁ-\ﬁv—v—‘—v—‘\f
== < — TV v e~~~ vV TV
T~ :;3 D e SIS = NSNERENS S NN N | el -25.0m
“HOF
B Ml 318m Ml 425m 18m ‘ 18m ‘ 19m ‘ 18m ‘ 19m ‘ 18m ‘ 19m ‘ 18m - &Ml 495m
1SPAN "2SPAN ' 3SPAN '4SPAN ' 5SPAN '6SPAN' 7SPAN ' 8SPAN ' 9SPAN '937S18tJ[71 ‘
M Kt H X M it X = M X H X = M X X o
= X=TREZBAN =2 = UX~TRZAN T E UR~TRZAH 43 = 2 R~TREB AR (IX~TXEZAR = NA-TXEBAR 132l =2
o . EHE : 6L -25m 4 H = K}xH
I H E=Y)|: 4585 #I1:11530 CCREAN N ol 3tem E38 GL -29m - - E32H lacauasn o & | GL-25m ezaxy |NENEe -
— O} 2tA 2ol - . X HE : 02 .
s = P AR 15250 NI : 3,483 T SIS 318m - H-PILE M3 322,008 oo - . = [ umr=zh ez
10.24 2IHE H-PILE M2 1263 - - o A% 2 e H-PILE &3 1538 H-PILE 47| MEIERE - -
- 3XHE 3At:9875m - 2X I A} : 782m — ZHH| AXI13AL: 20H = X 425m o BEM ongoas: man L
AHEMH| AT2IZ T AL : 3,827m Z%ﬂxﬁ&@ﬂf%ﬁsﬁa - XISHIO 3At: 426m 2t0lY 425m g 2% 23 =zmMx 1,015 - - & A% ngég#%ﬂf;q 53T A 1,561 53T Al 178m - -
=M AHIZA: 31EA e RIS - ADYZ2 HBZA: 240m OIHE 425m o e —— iz ties @nes i agxy HEIRI-5E o a
MM MHIZA} : 7.471m :gj%lggéﬂuﬁdﬁguﬂggggm - M= MY HHMZA}: 1,570m =2 %} 495m HEE M| = HEH1~6H - - }ggm HES MX| HEE S HE HEH AX] Hee -2 - -
EEZY MHIZAL : 11,500m a9 j - At MHIZAt: 566m £t0l's 495m g 2% x o | JEEl Uz sdi=: 26m x=s 22 16om  (SE=R0-4500 1523 | ZIA &K1 : 200m axs YZEYSMIN | oy e @yaE axg | NEHFNE R
- EJ=AM MHIZA : 4,040m S - EXu: 4m SIHE 495m TEE zus BE RS 2 - = D bt =R gHgasiwan | e|gEmDNRE == 6L -3m - -




